Dhananjayarao Gadgil Librar

GIPE-PUNE-264439

An Introduction to ECONOMIC ANALYSIS AND POLICY

An Introduction to ECONOMIC ANALYSIS AND POLICY

Ву

J. E. MEADE Fellow of Hertford College

SECOND EDITION

OXFORD UNIVERSITY PRESS LONDON: HUMPHREY MILFORD

OXFORD UNIVERSITY PRESS

AMEN HOUSE, E.C. 4

London Edinburgh Glasgow New York

Toronto Melbourne Capetown Bombay

Calcutta Madras

HUMPHREY MILFORD

PUBLISHER TO THE UNIVERSITY

FIRST EDITION 1936 BECOND EDITION 1937

Reprinted photographically in Great Britain in 1938 by LOWE & BRYDONE, PRINTERS LTD, LONDON, from sheets of the second edition

PREFACE

IN recent years there have been important developments in Economic Theory—notably in the analysis of Money and Unemployment by Mr. Keynes, and in the theory of Imperfect Competition by such writers as Mrs. Robinson and Mr. E. Chamberlin. Many of these new ideas are not yet available to any but the trained economic theorist; for new scientific work must always at first be stated in technical terms. It is the primary object of this book to expound the whole corpus of Economic Theory without taking any knowledge of technical terms for granted and with full use of the more recent developments. I have not shirked any point in which economic analysis is relevant for the determination of economic policy; and for this reason this book is not always easy to read. But I have tried to write in such a way that any one with patience and the power of clear reasoning can understand it.

In this book I have discussed economic theory with direct reference to the economic problems of the modern world. As a teacher of the subject I have often found that men, who come to economics to find an answer to the pressing problems of the moment, cannot see that the formal analysis of the text-book has anything to do with the real world. Such formal analysis is, however, essential for a full understanding of practical problems, and the rigid text-book analysis must be mastered; but in this book I have attempted to supplement that training by combining it with the direct discussion of economic problems. This method has made it necessary to advocate a particular economic policy.

There is nothing original in this work, which is a transcription of the work of many authors; and it is impossible for me to enumerate fully the writers to whom I am indebted. Nearly every economic author, whom I have read, has directly or indirectly affected this book. But there are certain authors whom I must mention specifically, and I hope that I will be

vi PREFACE

excused if I have failed to acknowledge direct indebtedness to others. Mr. I. M. Keynes's Treatise on Money and General Theory of Employment, Interest and Money have inspired the whole of Part I of this book, which has also been directly influenced by the work of Mr. R. F. Kahn; and certain passages in Chapters VI and VIII of Part I have been recast after reading Mr. R. F. Harrod's Trade Cycle. The suggestion about the Sinking Fund on p. 45 is taken from evidence given by Professor A. L. Bowley to the 'Colwyn Committee', and is to be found on pp. 323 to 328 of the Report of the Committee on the National Debt and Taxation, 1927. Part II has been constructed on the foundations of Mrs. Robinson's Economics of Imperfect Competition, Mr. E. Chamberlin's The Theory of Monopolistic Competition, and Professor Pigou's Economics of Welfare, as well as upon articles by Mr. R. F. Harrod and other authors; while pp. 156 to 164 are a transcription of an argument in Mr. R. F. Kahn's article in the Economic Journal, for March 1935, entitled 'Some Notes on Ideal Output'. Chapter VIII of Part II has gained much from articles of Mr. M. Dobb, Mr. H. D. Dickinson, and Mr. A. P. Lerner in the Economic Journal and the Review of Economic Studies. Part III owes much to Dr. Hugh Dalton's The Inequality of Incomes and Mr. Wedgwood's The Economics of Inheritance, while Chapter IV of this Part is largely based on the works on Public Finance of Dr. Hugh Dalton, Professor Pigou, Sir Josiah Stamp, and others. In Part IV, pp. 278 and 279 are merely a numerical illustration of the proof given by Mr. J. M. Keynes for a proposition of Mr. F. P. Ramsay in his article in the Economic Journal for December 1928, entitled 'A Mathematical Theory of Saving'. Part V is based upon many works on the Theory of Money, as well as upon textbooks on International Trade, such as Professor Taussig's Theory of International Trade and Mr. R. F. Harrod's International Economics.

Mrs. Robinson has read the whole of the manuscript of Parts I to IV, and I am very grateful for the many material improvements suggested by so able a professional economist. Dr. N. J. Abercrombie has nobly played the part of the intelligent amateur, and his detailed criticisms have greatly improved the exposition. My sister has done the same for Part I and suggested the insertion of an important section. I have been greatly helped by my wife in revising the book. To all of these I would express my sincere gratitude.

HERTFORD COLLEGE, OXFORD.

J. E. M.

April 1936.

PREFACE TO THE SECOND EDITION

IN preparing this edition I have corrected some errors of detail; and I should like to take this opportunity of thanking those who have pointed them out to me. I have also altered the emphasis of the arguments on pp. 211 and 272. This last change I have made as a result of reading Professor A. M. Carr-Saunders's World Population. This book has so impressed me with the importance of the present population trend that I have added a note at the end of this book, the main purpose of which is to explain the meaning of Mr. Kuczynski's measure 'the net reproduction rate' and to show its bearing upon the argument of Chapter II of Part IV of this book.

J. E. M.

HERTFORD COLLEGE, OXFORD March 1937.

TARL	E_(DE-C	, NO.	<u>ren</u>	ŢS		
List of Tables				•			' xi
Introduction	•	•	•	•	•	•	xiii
		PART					
τ	JNE		YMEN	ΙΤ			
VI. Can the Econor	nic S	Svstem	work?				1
II, The Rate of Int		•		ture on	Additio	nal	_
Capital Good				•	•	•	12
III. The Function of	of the	Banks					18
IV. The Control of	Ban	king Po	olicy		•		30
V. The Planning of	f Pu	blic W	ork s	÷			37
VI. Direct Control	of E	xpendi	ture on	Consu	mption		49
VII. Wages and Une	empl	oyment			•		61
VIII. The Proper Cr	iterio	n of P	olicy	•			75
IX. Other Methods	of r	educing	g Unen	nploym	ent	•	84
		PART	II				
✓ COMPET	TITI	ON A	ND M	ONOP	OLY		
I. The Meaning of	of Pe	rfect C	ompeti	tion	•	•	95
II. The Advantage	s of	Perfect	Comp	etition	•	•	111
III. The Disadvant	ages	of Peri	fect Co	mpetiti	on.	٠,	119
IV. Imperfect Com	peti	tion be	tween S	Sellers	.•	•	126
V. Imperfect Com	peti	tion be	tween I	Purchas	sers .		143
VI, The Disadvant	ages	of Mo	nopolis	tic Con	ditions	•	149
VII. The Control of	f Mo	nopoly		•	•	•	169
WIII. Public Manage	men	t and P	lanning	g of Inc	dustry	•	190

	▼ THE DISTRIBUTION	OF I	NCON	1E		
I.	How should Income be distrib	outed?				206
II.	Inequalities of Income from V	Vork				212
III.	Inequalities of Income from P	roperty	у			221
IV.	Equality by Taxation .	•				231
V.	Redistribution or Socialization	of Pro	perty			249
	PART IV					
T	HE SUPPLY OF THE PRIN	MARY	FACT	rors	OF	,
∪ I.	Land, Labour, and Capital					255
VII.	The Optimum Supply of Lab	our				259
	The Optimum Supply of Cap			•		273
IV.	Simultaneous Variations in the	Suppl	y of La	bour an	ıd	
	Capital	•	•	•	•	281
	PART V					
	INTERNATIONAL	PROB	LEMS			
∨I.	The Balance of Payments			•		285
۷II.	The Gold Standard .					299
∠III.	Free Exchange Rates .		•			323
IV.	International Trade .		•			335
$\cup \bm{V}_{\!\scriptscriptstyle \bullet}$	Free Trade and Protection	••	•			346
VI.	International Movements of L	abour	and Ca	pital		360
VII.	International Economic Co-op	eration	1			371
VIII.	The Economic causes of War					382
	Note on the Trend of Populat	ion		•		389
	Index		•			393

LIST OF TABLES

I. A Combined Balance-Sheet of the Joint-Stock Bank	s 20
II. A Balance-Sheet of the Bank of England .	. 22
III. The Average and the Marginal Product of Labour	. 65
IV. The Ratio between the Marginal Products of Two Factors differs in Two Industries .	o . 114
V. The Ratio between the Marginal Products of Two Factors is the same in Two Industries	0 . 115
VI. The Yield of Investment in Education .	. 215
VII. A Proportionate Income-tax	. 236
VIII. A Progressive Income-tax	. 237
IX. The Optimum Population	. 267
X. The Items in England's Balance of Payments	. 286
XI. Illustration of Main Items in Balance of Payments	. 289
XII. Alternative Method of illustrating the Balance of Payments	
XIII. The Ratio between the Marginal Costs of Two Com modities differs in Two Countries	-
XIV. The Ratio between the Marginal Costs of Two Commodities is the same in Two Countries .	
XV. Effect of Foreign Lending on the Terms of Trade	
XVI. The Net Reproduction Rate	. 389
CHART I (at end of book)	- 3-9
1. The Cost Conditions of a Single Firm.	
2 (a). The Denand for the Output of a Single Firm	
Perfect Competition.	i.
2 (b). The Demand for the Output of a Single Firm Imperfect Competition.	l.
3. The Effect of a Maximum Legal Selling-price on the	е

LIST OF TABLES

 The Demand for the Output of a Commodity, showing its Total Value to Consumers.

xii

5. The Effect of a Maximum Legal Selling-price on the Demand shown in Table 4.

CHART II (at end of book)

- 6 (a). The Demand for Labour by a Single Firm.
 Perfect Competition in the Sale of the Product.
- 6 (b). The Demand for Labour by a Single Firm.
 Imperfect Competition in the Sale of the Product.
- 7 (a). The Supply of Labour to a Single Firm. Perfect Competition in the Hire of Labour.
- 7 (b). The Supply of Labour to a Single Firm. Imperfect Competition in the Hire of Labour.
- The Effect of a Maximum Legal Commodity Price on the Demand for Labour shown in Table 6 (b).
- The Effect of a Minimum Legal Wage-rate on the Supply of Labour shown in Table 7 (b).

INTRODUCTION

BEFORE any economic system can provide the highest possible standard of living, four conditions must be fulfilled.

- 1. No economic resources, which are willing to work, must stand idle. This problem—the problem of Unemployment or of poverty in the midst of plenty—is discussed in Part I.
- 2. The available economic resources must be set to work to produce in the greatest possible quantities those products which consumers most desire; this condition will remain unfulfilled, so long as it is possible by producing less of one thing to produce more of another, which consumers desire more urgently. This is the problem of Competition, Monopoly, and Planning, which is the subject of Part II.

3. The income of the community must be distributed among individuals in such a way that the greatest possible satisfaction is obtained from the limited national income. The Distribution of Income is the subject of Part III.

4. The standard of living will not be the highest possible, unless a proper balance between work and leisure is maintained and unless the total population and the total stock of capital are forthcoming in the most appropriate amounts. Part IV discusses this problem of the 'optimum' supply of the factors of production, labour and capital.

If these four conditions are fulfilled, the standard of living will be the highest which it is possible with a given knowledge of industrial technique to obtain from a given supply of natural resources. Parts I to IV are based on the assumption of a self-contained economic system. But in the real world no economy is isolated in this way; for each government must consider the effect of its economic policy upon economic relations with other countries. Part V is therefore devoted to International Economic Problems. This discussion gives rise to no further fundamental economic problem, but shows

merely the international aspects of the four fundamenta questions discussed in Parts I to IV.

Some of these problems are more urgent and some are more easily solved than others. The most glaring economic ab surdity at present is the existence of unemployed resource in a world in which there are many needs still to be satisfied For this reason the policy discussed in Part I—together witl its international aspects in Part V—is the most pressing and the nearest to 'practical politics'. Fortunately, as we shall see the solution of this problem needs least governmental interference. This problem should certainly be solved before al others; for, as long as there are unemployed resources, it is possible to produce a larger real income and so to improve every one's standards without causing any one to be worse off The solution of this problem—unlike the problem of redistributing income—requires no change of heart and offend no vested interests; it requires simply a clearer understanding and if the argument of Chapter VIII of Part V is correct, it solution should strengthen the economic foundations of work peace. The problem of Part IV, with the exception of the question of the best balance between work and leisure discussed on pp. 259 to 262, is the most far removed from 'practical politics'; for it involves controlling the size of the population.

Opinions are likely to differ as to whether the problem of Part II or that of Part III should take precedence in any practical economic programme. On the one hand, the redistribution of income involves in its clearest form the problem of 'vested interests', since it is impossible to redistribute income without making some persons worse off than before whereas the solution of the problems raised in Part II will increase the total national income available for distribution and is therefore theoretically compatible with a rise in every one's standards. On the other hand, as we shall argue in Chapter IV of Part III, income can be safely redistributed by a simple extension of the existing taxing function of government; whereas the problem of Part II cannot be successfully

INTRODUCTION

XV

met without a large measure of government control over industry.

It is not suggested that a definite order of preference can be laid down in any practical economic policy for the solution of the different problems discussed in this book. Different readers will lay the emphasis on different problems; and—as we shall show more than once in the course of this book—there are many reforms which will aid the solution of more than one problem at the same time. But no sound economic policy can tackle every problem at once; and it is, I think, at least certain that the problem of unemployment should immediately receive the greatest emphasis. Beyond this, these introductory remarks may enable the reader to preserve a better balance in his judgement as he moves through the details of the following pages.

INDEX

Advances by banks, 20, 24, 27, 28, 53. Advertisement, 165, 166, 171, 174, 178. Agricultural Wage-Boards, 72. Anti-Combination Laws, 169, 170. Apprentices, 96, 214. Average, see Cost, Product. Balance of Payments, 285-98, 299, 304-6, 308, 315, 317, 319-21, 323-6, 330-4, 338, 344, 345, 347, 354-7, 367, 371, 373-6, 379. Balance of Payments on Current Account, 287-9. Balance of Trade, 287-9, 321, 333, 334, 356, 364, 365, 387, 388. Balance sheet: of Bank of England, 20-2. of joint-stock banks, 18-20. Bank for International Settlements. see Banks. Bank of England, see Banks. Banking Department, 21, 22, 25. Bankruptcy, 73, 294, 309. Banks, 18-36, 38, 47, 81, 227, 228, 239, 240. Bank for International Settlements, 317, 318, 372, 375-7. Bank of England, 20-36, 52, 53, 56-9, 301-3, 306, 307, 316-19, 323, 330. Central Banks, 301, 307, 313-19, 330-2, 372, 375, 376. Federal Reserve Banks, 302 n., 317. Joint-stock banks, 18-36, 53, 56, 306, 307. Batting average, 106, 267. Bills, 20-2. ·Birth-rate, 225, 283, 391. 'Bliss', 277-9. Budget, 40-5, 52, 54, 57-9. Buyers' preference, 155-7, 160, 162, 163, 165-8, 170, 171, 174, 175, 178, 191, 192.

Capital development, see Expenditure on capital goods. Cash reserves, 19-26, 53, 56, 306, 307, 313; see also Gold reserves, Reserve ratio. Central Bank, see Banks. Coin, 19, 296, 299, 300. Commodity market, see Market. Commodity taxes, 58, 233-5, 247, 251, 270. Comparative costs, 343. Competition: Imperfect or monopolistic competition, 64 n., 126-205. Perfect competition, 64 n., 95-125, 269, 336, 360, 374. Wastes of competition, 165-8, 174, 178. Concentration of output, 30, 155, 167, 168, 171, 174. Consumers' associations, 171. Consumers' credits, 49–60. Cost, 2-11, 28, 33, 34, 61, 256. Average cost, 101, 102, 104-6, 118, 128, 134, 154, 164, 183, 184, 193, 194, 354. Marginal cost, 101, 102, 104-6, 112, 133-6, 178, 182-4, 186, 187, 193, 194, 200, 229, 230, 235, 335-43, 346, 352-4, 360, 379-Total cost, 105, 134, 184, 186, 189, 193. See also Movement: cost of, Transport costs. Cross-transport charges, 166, 167, 171, 174, 178. Death duties, 59, 233, 242-8, 249, 251, 254, 270. Death-rate, 225, 391. Deflation, 54, 55, 310-12, 314, 317, Deposits, 19-27, 32, 34, 35, 56-9, 71, 296, 298, 304-7, 315, 317,

323.

Devaluation, 334. Discrimination in prices, 139-42. Distressed areas, 202, 203. Distribution of income, 30, 59, 60, 68 n., 74, 94, 125, 206-54, 362. 'Distributist' state, 249. Disutility of work, 260. Division of labour, 264–6, 269. Douglas, Major C. H., 5 n. Dumping, 140, 141. Economic Forecasting Comm., 204. Education, 42, 68, 88, 121, 215-18, 222, 231, 251, 253, 256, 261, 271. of consumers and of owners of factors of production, 169, 170-4, 191, 361, 364. Elasticity of demand, 87 n., 141. Employment Exchanges, 78, 91, 173, 214. Estate duty, 243; see Death duties. Exchange Equalization Fund, 328-330, 333, 334, 356, 374, 377, **380.** Expenditure: on capital goods, 8-17, 37-48, 59-61, 79-82, 194 n., 238, 239, 244, 245, 250, 307, 379. on consumption goods, 2-11, 16, 17, 37, 38, 49-60, 61, 80-2, 240, 242, 246, 254, 308, 312, 372, 379. Exports, 285-93, 306-9, 312, 321, 322, 324, 331-4, 335-59, 364-368, 371, 379, 382, 383. Family allowances, 251, 272. Federal Reserve Banks, see Banks. Fiduciary issue, 21, 22, 314. Foreign exchanges, 31, 32, 292-8, 299-334, 338, 345, 347, 354-9, 364-7, 369, 371-7, 379. Foreign lending, 254 n., 286-91, ·295–8, 305–10, 321, 324, 325– 332, 344, 345, 364-70, 371, 383, 385.

Free trade, 336, 338, 339, 341, 346-

59, 377, 382, 383, 387.

Gold bullion standard, 301.

Gold exchange standard, 301, 316, 317. Gold export point, 304, 323. Gold import point, 304, 323. Gold reserves, 21, 22, 31, 314-19, 320, 376. Gold specie standard, 299-301. Gold standard, 299-322, 333, 336, 344, 347, 355, 356, 358, 364, 373-5. Guild socialism, 196. Hours of work, 84-8, 93, 225, 226, 259, 260, 262 Hours of Work and Unemployment, 85. Housing, 12, 15, 16, 43, 49, 204, 205. Imperfect competition, see Competition. Imperfect market, see Market. Imports, 141, 285-93, 305, 307-9, 321, 322, 324, 331-4, 335-59, 364-8, 371, 379, 382, 383. Income-tax, 42-4, 233, 235-42, 246-8, 251, 261, 262, 270. Indemnities, 286, 310. Industrial Planning Commission, 203, 204. Infant industries, 346, 353, 354, 377. Inflation, 54, 76, 314, 317. Inheritance, 213, 221, 249. Insurance schemes, 51, 59, 90, 121. Interest, 2, 12-17, 26-9, 34, 35, 38, 39, 41, 44-7, 53, 60, 71-3, 80-83, 96, 98, 101, 103, 109, 112, 113, 117, 118, 194, 197, 200, 215-17, 226-8, 238-42, 244, 250, 256, 279, 280, 300, 306-310, 312, 320, 327, 328, 365, 368-70, 371-3, 380. on Foreign investments, 286-91, 294-8, 309, 327, 331, 344, 345, 364-70, 383, 385. International Labour Office, 84. International trade, 335-59. Inventions, 68, 69, 203, 204, 310. Issue Department, 21, 22. Joint-stock banks, see Banks.

Labour, see Division of Labour, Market, Migration of Labour, Optimum supply of Labour. Labour Exchanges, see Employment Exchanges. Large-scale production, 104, 105, 128-30, 134, 170, 265, 266, 269, 270, 272, 281, 353. League of Nations Mandates, 388. Low Tariff group, 379, 380. Management, marginal product of, 184. 156-63, 178, 192, 222, 223. Marginal, see Cost, Management, Product, Receipts, Utility. Market: Commodity market, 64 n., 97, 98, 126, 130-3. Imperfect market, 130-3, 146, 165-8. Labour market, 64 n., 77, 84, 88, 318. 89, 94 h., 146. Perfect market, 126, 143. Marriages, \$04, 205. tion. Mass production, see Large-scale production. Migration of labour, 360-3, 381, 383, 385. Milk Marketing Board, 140, 141, ISI. Mint, 300. Product: Monopolistic competition, Competition. Monopoly, 127-89, 190, 191, 250, 251, 262, 269, 279, 337, 360, 385, 386, 388; see also Dis-

of factom of production, 96, 111, 172, 191, 252, 335, 342, 343, 360-70, 380, 381, 387. cost of, x09, 110, 112, 113, 117, 118, 145, 170, 173, 191, 202, 212, 214, 218, 335, 361.

minimation in prices.

Most-favoured-nation clause, 378,

379-

Movement:

National debt, 44, 45, 72, 231, 242, 247, 253, 311.
National Investment Board, 45-8, 205.

Nationalization, see Socialization. Notes, 19-25, 32, 35, 50, 52-4, 56-59, 296, 301-3, 307, 315, 323. Old age pensions, 88, 231, 251. Open-door policy, 387, 388. Optimum number of firms, 160. Optimum population, 363-72, 361, 362, 391-2. Optimum size of firm, 105, 118, 128, 154, 171, 177, 178, 183, Optimum supply of labour, 93, 233, 235, 241, 246, 247, 250, 252, 253, 258-72, 281-4. Optimum supply of savings, 233, 235, 241, 242, 246, 247, 250, 251, 254, 258, 273-84. Par rate of exchange, 302, 303, Pensions, 88, 90, 231, 251. Perfect competition, see Competi-Perfect market, see Market. Planning, 37-48, 200-5. Poll tax, 270. 204, 263-72, 315, Population, 361-3, 381, 389-92. Price-fixing, 169, 180-9, 219, 223. Average product, 65, 66. Marginal product, 65-9, 76, 88, 89, 91, 93, 106-205, 214-20, 222-8, 241, 244, 252, 253, 259, 260, 262, 266-72, 273-7, 279-284, 335, 360-3. See also Management. Professional bodies, 170, 214. Progressive taxation, 236-8, 242, 243, 249, 254, 262, 270, 271. Property taxes, 247; see also Death duties. Proportionate taxation, 236-8, 242,

243, 270.

312, 372.

Queues, 187.

Protection, 339, 346-59, 377-80. Public works, 12, 14, 37-48, 308,

Quotas, 292, 321, 379, 380, 384.

Rationalization, 169, 174, 175. Rationing of loans, 227, 228. Receipts: Marginal, 133-6, 182, 184; Total, 135, 138, 184. Rent, 2, 15, 16, 101, 194, 226-8, 256. Reparations, 286, 310. Reproduction rate: net, 389-92; gross, 390. Reserve ratio, 19-26, 33, 35, 53, 306, 307. Satisfaction, total, 99, 209, 210, 263, 278-80. Saving, 7-11, 59, 60, 239-42, 245-247, 249, 250, 254, 270, 277-284, 298, 307. School-leaving age, 88, 89, 93, 226, Shipping services, 286-91, 293, 294. Short-term capital movements. 325-32, 356, 357, 369, 370, 373, 374, 376, 380. Sinking Fund, 44, 45. 'Social dividend', 197, 231, 251. Socialization, 30-6, 45, 48, 49, 68 n., 180, 190-205, 214, 223, 229, 250-4, 262, 269, 270, 279, 280, 332, 338, 354, 374, 379. Specialization of product, 167, 174, 178. 'Standard' volume of unemployment, 52-8, 77-9, 82, 83. Standardization, 168. Stocks, 27, 28, 37, 38, 79. Subsidies, 16, 34, 47, 48, 84, 90-3, 121, 125, 169, 175-80, 184, 186, 189, 194, 200, 201, 229, 231, 262, 279, 321, 354, 359. Subsistence level, 264, 361, 362. Surtax, 42, 235. Syndicalism, 196.

Tariffs, 141, 292, 293, 309, 310, 321, 322, 334, 346-59, 372, 373, 377-80, 384, 385, 387.

Taxation, 33, 40-4, 48, 50, 51, 56-59, 84, 88, 90, 91, 94, 124, 169,

175-80, 200, 231-48, 251, 253, 254, 270-2, 280, 319; see also Commodity taxes, Death duties, Estate duty, Incometax, Poll tax, Progressive taxation, Property taxes, Proportionate taxation, Surtax, Tariffs, Taxing the foreigner. Taxing the foreigner, 346, 352, 353. Terms of trade, 343-5, 346-53, 358, 359, 364-8, 3/7-9, 381

Total. see Cost. Receipts. Satis-

Total, see Cost, Receipts, Satisfaction.

Tourist expenditure, 286, 331. Town and regional planning, 39, 201, 202.

Trade Boards, 72, 73. Trade Unions, 72, 73, 75, 93, 94 n.,

260.

Transport costs, 130-2, 141, 142, 155, 170.
Treasury Bills, 19, 328.

Tribute, 286, 310, 344, 345, 382, 383.

Unemployment, I-94, 173 n., 188, 189, 194 n., 197, 202, 219, 224, 226, 227, 231-3, 238-40, 244-6, 249, 254, 308-15, 320, 332-4, 346, 354-9, 369, 371-3, 374, 380, 383 386-8.

Unemployment Assistance Board, 51-5.

Unemployment benefit, 42, 43, 51-55, 78, 90-2, 94 n., 231. Usury, 227, 228.

Utility, marginal, 101, 111, 160, 207, 260, 278-80, 338.

Wages, 2, 53, 56, 61-74, 75-9, 84-94, 98, 101, 136-9, 145-48, 185, 187, 202, 203, 212-20, 223-6, 231, 232, 241, 252, 256, 259, 260, 262, 268-71, 311-16, 320, 326, 354, 355, 357-9, 360-2, 374, 383.

'Work or Maintenance', 78.

CHART I

A	В	С	D
	Average	Total	Marginal
Output	cost	cost	cost
	£. s.	£, s.	£. s.
ī	31 5	31 5	31 5
2	29 0	58 o	26 15
3	27 0	81 0	23 0
4	25 5	101 0	20 0
5	23 15	118 15	17 15
6	22 10	135 0	16 5
7 8	21 10	150 10	15 10
8	20 15	166 o	15 10
9	20 5	182 5	16 5
10	20 0	200 0	17 15
11	20 0	220 0	20 0
12	20 5	243 0	23 0
13	20 15	269 15	26 15
14	21 10	301 0	31 5
15	22 10	337 10	36 10
16	23 15	380 o	42 10
17	25 5	429 5	49 5

A	В	С	D
Output	Demand price	Total receipts	Marginal receipts
	£	£	£
r	20	20	20
2	20	40	20
3	20	60	20
4	20	80	20
5 6	20	100	20
6	20	120	20
7 8	20	140	20
8	20	160	20
9	20	180	20
10	20	200	20
11	20	220	20
12	20	240	20
13	20	260	20
14	20	280	20
15	20	300	20
16	20	320	20
17	20	340	20

Α	В	C	D
Output	Demand price	Total receipts	Marginal receipts
	£	£	£
I	29	29	29
2	28	56	27
3	27	81	25
4	26	104	23
5 6	25	125	21
6	24	144	19
7 8	23	161	17
8	22	176	15
9	21	189	13
10	20	200	11
11	19	209	9
12	18	216	7
13	17	221	5
14	16	224	3
15	15	225	1
16	14	224	- I
17	13	221	-3

Α	B Demand	C Total	D Marginal
Output	price	receipts	receipts
	£	£	£
1	20	20	20 0
2	20	40	20 3
3	20	60	20 5
4.	20	80	20 9 9
5	20	100	20 5
6	20	120	Maximum Price of £20
7	20	140	20 1 2
8	20	160	20 .
9	20	180	20 g
10	20	200	20 2
11	19	209	9
12	18	216	7
13	17	221	5
14	16	224	3
15	15	225	I
16	14	224	I
17	13	221	-3

A	В	C	D	E
Output	Demand price	Total receipts	Marginal receipts	Total value to consumer:
	£	£	£	£
1	25	25	25	25
2	24	48	23	49
3	23	69	21	72
	22	88	19	94
4 5 6	21	105	17	115
6	20	120	15	135
7 8	19	133	13	154
8	18	144	11	172
9	17	153	9	189
10	16	160	7	205
II	15	165	5	220
12	14	168	3	234
13	13	169	I	247
14	12	168	I	259
15	11	165	-3	270
16	10	160	-5	280
17	9	153	-7	289

A	₃B	С	D
Output	Demand price	Total receipts	Marginal receipts
Surpur			
]] I	£ 17	£ 17	£ 17)
2	17	34	Maximum Price of
3	17	51	iximum Price
4	17	68	17 4 5
5 6	17	85	17 } 質質
1 1	17	102	17 8 6
7 8	17	119	17 3 5
8	17	136	17 🛱
9	17	153	17)
10	16	160	7
II	15	165	5
12	14	168	3
13	13	169	1
14	12	168	- r
15	11	165	-3 -5
16	10	160	-5
17	9	153	- 7

Table 1. The Cost Conditions of a Single Firm. Table 2 (a). The Demand for the Output of a Single Firm. Table 2 (b). The Demand for the Output of a Single Firm. Imperfect Competition.

Table 2 (b). The Demand for the Output of a Table 3. The Effect of a Maximum Legal Selling-price on the Demand shown in Table 2 (b).

Table 3. The Effect of a Maximum Legal Selling-price on the Demand shown in Table 2 (b).

Single Firm. Imperfect Competition.

TABLE 5. The Effect of a Maximum Legal Selling-price on the Demand shown in Table 4.

CHART II

A	В	C	D	E	F	G	A	F
Employment	Output	Marginal product	Price of product	Value of marginal product	Total receipts	Marginal value of labour	Employment	Outbut
18 19 20 21 22 23 24 25 26 27 28 29 30 31	708 760 810 858 904 948 990 1,030 1,068 1,108 1,170 1,200 1,228	52 50 48 46 44 42 40 38 36 34 32 30 28 26	s. 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	£ s. 5 4 5 0 4 16 4 12 4 8 4 4 4 0 3 16 3 12 3 8 3 4 3 0 2 16 2 12	£ s, 70 16 76 0 81 0 85 16 90 8 94 16 103 0 106 16 117 0 120 0 122 16 125 8	£. s. 5 4 5 0 4 16 4 12 4 8 4 4 4 0 3 16 3 12 3 8 3 4 3 0 2 16 2 12	18 19 20 21 22 23 24 25 26 27 28 29 30	77 88 89 99 1,0 1,1 1,1 1,1 1,2 1,2

TABLE 6 (a)). The Dema	and for La	bour by a	Single Firm
Perfect	Competition	in the Sa	le of the	Product.

A	В	С	D	E	F	G
Employment	Output	Marginal product	Price of product	Value of marginal product	Total receipts	Marginal value of labour
			s. d.	f, s. d.	\pounds s. d.	f_{c} s. d .
18	708		3 0		106 4 0	
19	760	52	2 11	7 11 8	110 16 8	4 12 8
20	810	50	2 10	7 I 8	114 15 0	3 18 4
21	858	48	2, 9	6 12 0	117 19 6	3 4 6
22	904	46	2 8	6 2 8	120 10 8	2 11 2
23	948	44	2 7	5 13 8	122 9 0	1 18 4
24	990	42	2 6	5 5 0	123 15 0	160
25	1,030	40	2 5	4 16 8	124 9 2	14 2
26	1,068	38	2 4	4 8 8	124 12 0	2 10
27	1,104	36	2 3	4 1 0	124 4 0	8 o
28	1,138	34	2 2	3 13 8	123 5 8	- 18 4
29	1,170	32	2 I	3 6 8	121 17 6	-1 8 2
30	1,200	30	2 0	3 0 0	120 0 0	-1 17 6
31	1,228	28	1 11	2 13 8	117 13 8	-2 6 4
32	1,254	26	1 10	2 7 8	114 19 0	-2 14 8

32	1,254	26	1 1	2	2 7	8	114	19 0	-2	14	8	
Tabl	е 6 (<i>b</i>).						y a Sin f the P			тре	rfeci	;

	Employment	Wage-rate	Wage-bill	Marginal wage-cost	
		£ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	£ 54 57 60 63 66 69 72 75 78 81 84 87 93	£ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	
	18	3	54	• • •	
1	19	3	57	3	
	20	3	60	3	
	21	3	63	3	l
	22	3	66	3	
	23	3	69	3	Ì
	24	3	72	3	1
	25	3	75	3	
	26	3	78	3	
	27	3	81	3	
İ	28	3	84	3	ļ
	18 19 20 21 22 23 24 25 26 27 28 29 30 31 32	3	87	3	
	30	3	90	3	l
	31	3	93	3	l
İ	32	3	96	3	1

Table 7 (a). The Supply of Labour to a Single Firm. Perfect Competition in the Hire of Labour.

A	В	C	D	
Employment	Wage-rate	Wage-bill	Marginal wage-cost	
	£ s.	£ s.	£, s.	
18	12	£, s. 10 16		
19	12 16 1 0 1 4 1 8	15 4	4 8	
20	1 0	20 0	4 16	
21	I 4	25 4 30 16	5 4 5 12 6 0 6 8	
22	1 8	30 16	5 12	
23	I I2	36 16	6 0	
24	1 16	43 4 50 0	6 8	
25	1 12 1 16 2 0 2 4 2 8 2 12 2 16	50 0	6 16	
26	2 4 2 8 2 12 2 16	57 4 64 16	7 4	
27	2 8	64 16	7 12 8 0 8 8	
28	2 12	72 16	8 0	
29	2 16	81 4 90 0	8 8	
30	3 0	36 16 43 4 50 0 57 4 64 16 72 16 81 4 90 0 99 4	8 16	
21 22 23 24 25 26 27 28 29 30 31 32	3 0 3 4 3 8	99 4	9 4	
32	3 8	108 16	9 12	

TABLE 7 (b). The Supply
Labour to a Single Firm. In
perfect Competition in the Hi
of Labour.

A	В	С	D	E	F	G
Employment	Output	Marginal product	Price of product	Value of marginal product	Total receipts	Marginal value of labour
			s. d.	\pounds s. d.	£, s. d.	£, s. d.
18	708		2 0		70 16 0	~]
19	760	52	2 0	5 4 0	76 o o 81 o o	5 4 0 75
20	810	50	2 0	5 0 0	8100	5 4 0 po 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
21	858	48	2 0	4160	85 16 0	4 16 0 %
22	904	46	2 0	4 12 0	90 8 o	4 12 0 5
23	948	44	2 0	480	94 16 0	4 8 0 8.2
24	990	42	2 0	4 4 0	99 0 0	n price o effective.
25	1,030	40	2 0	4 0 0	103 0 0	4 0 0 gg
26	1,068	38	20	3 16 o	106 16 0	3 16 0 5
27	1,104	36	20	3 12 0	110 8 0	3 12 0 .
28	1,138	34	2 0	380	113 16 0	3 8 0 3
29	1,170	32	2 0	3 4 0	117 0 0	
30	1,200	30	2 0	3 0 0	120 0 0	ا له ه 3
31	1,228	28	1 11	2 13 8	117 13 8	-2 6 4 -2 14 8
32	1,254	26	1 10	2 7 8	114 19 0	-2 14 8

of Table 8. The Effect of a Maximum Legal Commodity Price on the Demand for Labour shown in Table 6 (b).

A	В		C		D		
Employment	Wage-rate		Wage-bill		Marginal wage-cost		
	£.	s.	£,	s.	£	s.	***************************************
18	£ 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	s. o o o o o o o o o o o o o o o o o o o	£ 54 57 60 63 66 69 72 75 78 81 84 87 90 99	s. o o o o o o o o o o o o o o o o o o o	£ 3 3 3 3 3 3 3 3 3 3 9 9	s. 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	1
19	3	0	57	0	3	0	33
20	3	0	60	0	3	0	f,
2 I	3	0	63	0	3	0	ė
22	3	0	66	0	3	0	rat
23	3	0	69	0	3	0	n Wage-ra effective.
24	3	0	72	0	3	0	Vag ect
25	3	0	75	0	3	0	off.
26	3	0	78	0	3	0	5
27	3	0	81	0	3	0	Minimum Wage-rate of £3 effective.
28	3	0	84	0	3	0	Į.
29	3	0	87	0	3	0	Σ
18 20 21 22 23 24 25 26 27 28 29 31 32	3	0	90	0	3	٥	
31	3	4	99	4	9	4	
32	3	8	108	16	9	12	

Table 9. The Effect of a Minimum Legal Wage-rate on the Supply of Labour shown in Table 7 (b).